8. Find the values of the missing trig functions given sin8 = —-1-877~ and cosé = % .

For questions 9- 15, find the exact value of each expression. =20
9. tan 2. 10. sec 1% 11, sin =27 @ cot 27 13. sec510°
2 4 6 6

cot (JE) =\\—§-

. 3w 87 S tan 150°csc 240°
14. sin—tan| ——— |+cos| —— 15. -
2 3 6 cos135°—sin300°

For questions 16-19, graph one period of each function. Fully label your axes!! Use color for your final

function!
16. f(x)=2-3sec4(x—-m)

17. f(x)= —1+4sin%(6 +45°)
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22. tan(x+§-)+1 = ﬁcosxsec(x+%}

23, (l1+tanx)tan2x =

2tanx
l—tanx

For questions 24-27, solve each equation in the indicated domain.

T’Is 1
b 2 .
4 25. 4esc” @ +4dcescd+1=0, Domain: [0°,360°)

26t % (ob% + 1) =0 -

24, 2cot® x+2cotx =0, Domain: (-0, o)

7wEtx=0 cotx=-\

'§2§‘=0 Tl %rr“*ﬂ“‘
n 2 o
2 i = 2T
,g/_:l’,’LHW ? 2

26. 1—cos@=~—sinf, Domain: [-180°,180°)

Midterm Review Packet — page 4

tan100 + tan 50° /3

"1—tanl06tan50° 3

Domain: (0°,90°)
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@)(:-3 N F,;jf ( 6?’.\_1_[0' 1—-8/7’) ;\'\'%ﬁ l .

boy=2  \L X R '
g2 % () (4404 &
Ve, (407 A %

- 24AR B, /
|SET ~ a4 da”
HS 2440 2 B T :
= T3 Ul !
2
48, Find the volume of the solid formed w € triangle is rotated v
about !t s S
a. x=-1. LG
b. y=5 [
T .
i ! ! 3%
PEEEEEERE
49. Find the volume of the solid formed when the trapezoid is
rotated about .
a y=4 .
b. x=-3 i
A AN
/1
5 -4 -3 2 - a 2 3 4 3

50. Find the volume of a hollow sphere, where the outter diameter is 15cm and the length of the inner
diameter is 7cm.
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51. Find the volume of the frustum withry = x + 3,1, = 2x — 1, and h = 4x.

@ Is 3 — i a zero to the function g(x) = x% — 10x? + 34x — 40 ? ‘)
G-0)"=q-Li-V = 820 ((gA)- (o(8-U)r 24 (3-0) 4D
(%,Q\S\%*‘\,)ﬂaﬂr--’\ﬁ’_‘@v‘u »%Lifpu ~ 86 +G0 L+ Wwh-Ea —4D
= 18—l =0 l Y

53. At 1:00pm (13:00) high tide was at 4 feet, at 8:00 pm (20:00) low tide was -1 feet. Find the period of the
trigonometric function that would model the tides.

54. Simplify
X
3+t5—
1

~—4

55. Factor the following polynomial: 125x3 — 8y®

56. Expand the binomial: (5y — x%)°

57. Divide using long division or unboxing method:

2x3—4x+512x3 —11x2+22x—15
x2—4x+5
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Graph the function and label the following information, Horizontal Asymptotes can include slant asymptotes.

Zeros:

Vertical Asymptotes:

Horizontal
Asymptotes:

2 A
4q, y=X 45
x+1
v
x> +5x+6 4
BysTa Ty
v
(x-r’L)(X/z) \
46 y—

3x —15x+18

B(x=Sx+b
(X%}L:)/ D -

L 24

Hol& !

47. Find the volume of the solid formed when the rectangle shown is rotated about
Midterm Review Packet — page 7

Holes:

Y-Intercept(s):

Domain:

range

Zeros:

Vertical Asymptotes:

Horizontal
Asymptotes:

Holes:

Y-Intercept(s):

Domain:

range

Zeros:

Vertical Asymptotes:

Horizontal
Asymptotes:

Holes:

Y-Intercept(s):

Domain: (~

L=

o
range

)
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